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QUESTION 1

A systems administrator creates a new file server. Before the users can access the server, which of the following must
be done FIRST? 

A. Set up an iSCSI target 

B. Configure WWN on the SAN 

C. Join domain/directory 

D. Disable the firewall 

Correct Answer: C 

 

QUESTION 2

A server administrator completed an OS installation on new server hardware. The administrator installed the license key
and finished configuring the server. After 90 days, users were unable to log in to the server. Only the local administrator
was able to log in. Which of the following steps did the server administrator forget to do? 

A. Activate the server login role 

B. Activate the DHCP scope in the console 

C. Activate the license with clearinghouse 

D. Activate the warranty on the server 

Correct Answer: C 

 

QUESTION 3

A server technician is connecting a server to a switch in the server room. Both the server and the switch are equipped
with 10 Gigabit Ethernet adapters. Which of the following cable choices would produce the BEST throughput? 

A. CAT6 rollover cable 

B. CAT5e straight-through cable 

C. CAT6 straight-through cable 

D. CAT5e crossover cable 

Correct Answer: C 

 

QUESTION 4

A new rack of servers has been installed in a datacenter. A server administrator needs to ensure fault tolerance and
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redundancy wherever possible. Which of the following would ensure the MOST uptime in the event of a sudden power
loss? (Choose two.) 

A. Connect the rack PDUs to separate power circuits 

B. Connect servers with multiple power supplies to separate power sources 

C. Periodically test the UPS batteries to ensure they are fully charged 

D. Connect redundant power supplies to the same PDUs 

E. Connect all rack PDUs to the UPS battery 

F. Connect servers with multiple power supplies to the same higher-amp circuits 

Correct Answer: AB 

 

QUESTION 5

A security administrator wishes to enable multifactor authentication. Which of the following would achieve that
objective? (Choose two.) 

A. Security token and dongle 

B. Fingerprint and one-time passcode 

C. Username and challenge questions 

D. Password and PIN 

E. Voice pattern and retina scan 

F. Random number generator and passphrase 

Correct Answer: BF 

 

QUESTION 6

An administrator is updating the server infrastructure at a company\\'s disaster recovery site. Currently, an enormous
amount of effort is required by the administrator to replicate operations. Which of the following types of site is the
administrator currently using? 

A. Cold site 

B. Hot site 

C. Warm site 

D. Replication site 

Correct Answer: A 

 

Latest SK0-004 Dumps | SK0-004 VCE Dumps | SK0-004 Exam Questions                                3 / 6

https://www.passapply.com/sk0-004.html
https://www.passapply.com/sk0-004.html
https://www.passapply.com/sk0-004.html


https://www.passapply.com/sk0-004.html
2024 Latest passapply SK0-004 PDF and VCE dumps Download

QUESTION 7

A user is unable to save an image file to their home directory on a server. The server technician checks the disk space
and ACL on the user\\'s home directory and finds that the user has enough space and required access to write to the
directory. Which of the following is the MOST likely reason why the user is unable to save the file? 

A. The user is attempting to save a file with a prohibited file extension. 

B. There are too many open files on the server. 

C. The user does not have permission to save files to the server. 

D. The hard drive containing the user\\'s home directory, is failing. 

Correct Answer: A 

 

QUESTION 8

A server on the network stores sensitive data for a department in the company. Many users in that department access
the data. A systems administrator has been instructed to ensure only this data is encrypted in the most efficient manner.
Which of the following solutions is BEST? 

A. Disk-level encryption 

B. File-level encryption 

C. Data transfer encryption 

D. User-initiated encryption 

Correct Answer: C 

 

QUESTION 9

Which of the following are required characteristics of database servers in high transaction environments? (Select
THREE). 

A. Two-factor authentication 

B. High bandwidth 

C. Higher RPM drives 

D. Load balancing 

E. High latency 

F. Hotswappable drives 

G. Encryption 

Correct Answer: BCD 
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QUESTION 10

A server technician has just finished provisioning a Windows server offline. Per company policy, all servers\\' network
settings must be configured manually. The technician is able to ping the IP addresses of servers on multiple networks.
When attempting to join the server to the domain, the technician receives the error: Cannot find domain controller.
Which of the following is MOST likely the cause of this issue? 

A. WINS settings are not configured on the server 

B. DNS settings are not configured on the server 

C. The default gateway is not configured on the server 

D. The subnet mask is not configured on the server 

Correct Answer: B 

 

QUESTION 11

Employees working for a company were harmed by toxic fumes during a fire. To prevent this from reoccurring, which of
the following cable types is SAFEST to use? 

A. CAT6 cables 

B. Plenum cables 

C. Fiber cables 

D. Coaxial cables 

Correct Answer: B 

 

QUESTION 12

Which of the following RAID levels can withstand the simultaneous loss of two physical drives in an array? 

A. RAID 0 

B. RAID 3 

C. RAID 5 

D. RAID 10 

Correct Answer: D 

 

QUESTION 13

Which of the following virtual network settings should be used if the IP addresses of the host is to be shared with the
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virtual machine? 

A. NAT 

B. Bridged 

C. Host-only 

D. Custom virtual network 

Correct Answer: B 

 

QUESTION 14

A technician wants to compare a new servers performance over a period of time. Which of the following should the
technician do FIRST? 

A. Monitor processor performance logs 

B. Constantly check the task manager 

C. Use performance server logs 

D. Establish a baseline for the server 

Correct Answer: D 

 

QUESTION 15

An administrator is attempting an OS upgrade on a VM disk that is stored on a SAN. In the event of a failure, the
administrator wants to ensure the system can return to a working state in the shortest amount of time possible. Which of
the following backup methods would BEST accomplish this? 

A. A storage-level snapshot made on the SAN 

B. A full file-system backup stored on the SAN 

C. A full file-system backup stored on an LTO tape 

D. A system recovery point made with the OS 

E. A bit-level image stored on an SSD in the VM host 

Correct Answer: B 
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